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k|sfzs 
di6f ufpFkflnsf 

ufpF sfo{kflnsfsf] sfof{no 
eft]vf]nf, aemf¨ lhNnf 

& g+= k|b]z, g]kfn 



aflif{s ljsf; sfo{qmd 

आ.व.२०७४/७५ 

l;=g+= lzif{s cf=j= @)&$.&% sf] cg\df]b 

10 cfly{s ljsf; 9851144 

1010 s[lif   

1020 pBf]u tyf jfl0fHo   

1030 ko{6g   

1040 ;xsf/L    

1050 ljltoIf]q   

20 ;fdflhs ljsf; 21122543 

2010 lzIfff   

2020 :jf:Yof   

2030 vfg]kfgL tyf ;/;kmfO{   

2040 ;f:s[lt k|jb{g   

2050 v]ns'b tyf dgf]/~hg   

2060 nf}lus  ;dfgtf tyf ;dfj];Ls/0f   

30 k'jf{wf/ ljsf; 33642172 

3010 :yfgLo ;8s k'n tyf emf]=k'[=   

3020 l;rfO{   

3030 ejg   

3040 phf{ ;fgf hnljB't   

3050 ;+rf/   

40 jftfj/0f tyf ljkb Joj:yfkg 6895801 

4010 jg tyf e" ;+/If0f   

4020 hnwf/ ;+/If0f   

4030 jftfj/0f ;+/If0f   

4040 kmf]xf]/ df}nf Joj:yfkg   

4050 hn pTkGg k|sf]k lgoGq0f   

4060 ljkb Joj:yfkg   

4070 jf?0foGq ;+rfng   

50 j[lto Joj:yfkg / ;'zf;g 2371923 

5010 ;'rgf k|ljwL   

5020 ;~rf/ Joj:yfkg   

5030 :yfgLo tYofs ;+sng / clen]v Joj:yfkg   

5040 ;'zf;g k|j4g    

5050 cg';Gwfg ljsf;   

5060 cGoq jlu{s[t gePsf]    

  hDdf 73883583 



di6f ufpFkflnsf 
ufpF sfo{kflnsfsf] sfof{no 

 eft]vf]nf, aemfË 
& g++= k|b]z g]kfn 

 
di6f ufp “ kflnsf j8f g+= ! 

!= cfly{s ljsf; 855000 

s[lif 775000 

6g]n xfp; lgdf{0f 450000 

Ps 3/ Ps s/];fjf/L 75000 

kz' cf}ifwL lzlj/ 50000 

/;foLlgs dn 9'jfgL 200000 

pBf]u tyf jfl0fHo 80000 

kftn cfkm/ lgdf{0f  50000 

cfkm/ lgdf{0f 8\u|fsf]6 30000 

@= ;fdflhs ljsf; 6248000 

lzIff 4150000 

;/:jftL ejg lgdf0f{ 300000 

/fli6o k|f=lj=egj lgd{f0f 300000 

j]tfn sf]6 e}/j 5fgf dd{t 200000 

36fnb]j k|f=lj= 5fgf dd{t 400000 

;"df{ b]jL k|f=lj 5fgf dd{t 300000 

3rfof df=lj= ejg lgd{f0f 1300000 

b[uf k|f=lj=ejg lgdf{0f 500000 

dfO{ltjg lg=df=lj= ejg lgdf{0f 600000 

dflnsf k|f=lj= kmlg{r/ 50000 

8f8fjfu b]jL k|f=lj= ejg dd{t 200000 

:jf:Yo 518000 

sf]6b]jn :jf:y rf}sL ejg lgdf{0f 350000 

:jf:yfo tyf vf]k lSnlgs 42000 



;'/Iftdfd[Tj  42000 

kf]iff0f sfo{qmd 42000 

vf]k lSnlgs 42000 

vfg]kfgL tyf ;/;kmfO{ 880000 

;'Gofnt afu h\jfnf vf=kf= 300000 

8\u|fsf[6 n]sL vf}nf vf=kf= 100000 

d+un k|f=lj= vf=kf= 50000 

;db]p vf=kf= dd{t 50000 

lhG8f8f blnt a:yL vf=kf= dd{t 30000 

vf=kf= dd{t sf]6b]jn 50000 

vf=kf= dd{t 8'u|fsf]6 50000 

vf=kf= dd{t /gf8f 50000 

vf=kf=dd{t n]sL 50000 

vf=kf=dd{t bnjf8f 50000 

lhG8f8f vf=kf= 50000 

tlnufpF /gf8f vf=kf= 50000 

;+:s[[lt k|j4g 700000 

gfGgb]j dlGb/ dd{t 100000 

3rfo di6f dlGb/ 3]/jf/ 120000 

lgnvl6 d08' dd{t 50000 

nfs'8f d08' 5fgf dd{t 30,000 

nfufd08' /gf8f 100000 

3rfo d]nf Joj:yfkg 300000 

#= k"jf{wf/ ljsf; 3127000 

;8s tyf k'n 962500 

kftnu8f sf7]k'n 62500 

;d'bflos ejg lgdf{0f 8'u|f sf]6 300000 

j8fsfof{no ejg lgdf{0f 600000 

l;rfO{ 1164500 



;'Goft kfNt l;rfO{s'nf] ;e]| 30000 

kftn s'nf] dd{t 20000 

vft8 l;rfO{ s'nf] dd{t 114500 

ef}/f8L 58f l;rfO{ s'nf] 1000000 

;fO{9'8f sf\/f\vfn t8aGw   

;'GofNt kftn uG8fu l;rfO{ s'nf]   

ejg tyf ;x/L ljsf; 100000 

nfufb]j ;r]tgf ejg lgdf{0f 100000 

hnljB't tyf a}slNks phf{ 900000 

gfGgb]j hnljB't gx/ 500000 

e|f/f8L 58f :6Ln kf]n v/Lb 
400000 

$= jftfj/0f tyf ljkb Joj:yfkg 
1185114 

n]sL vf}nf b]vL 8'u|L ;Dd j[If/f]k0f 100000 

;db]p t6aGwg 500000 

uh]8L t6AGwg 285114 

hfnt8L t8aGwg 300000 

%= ;+:yfut ljsf; tyf ;]jf k|jfx  647540 

If]dtf ljsf; 347540 

gf=;==s]= 100000 

If]dtf ljsf; sfo{qmd 200000 

hDdf 12062654 

  



di6f ufpFkflnsf 
ufpF sfo{kflnsfsf] sfof{no 

 eft]vf]nf, aemfË 
& g++= k|b]z g]kfn 

 
di6f ufp “ kflnsf j8f g+= @ 

!= cfly{s ljsf; 2225000 

s[lif 1925000 

6g]n xfp; lgdf{0f 450000 

:ofp / cf]v/ auf}rf lgdf{0f 400000 

Ps 3/ Ps s/];fjf/L 35000 

cfn'v]tL ks]6 If]q jf8]ufp 200000 

cfw'lgs s[lif cf}hf/ vl/b / vfg]kfgL dd{t  300000 

afv|f kfng d'un]kf6f 220000 

blnt a:tL s'v'/f kfng / cfkm/ lgdf{0f 300000 

kz' cf}ifwL vl/b 20000 

ko{6g 300000 

kfs{lgdf{0f df8'kftn ;fd'bflos jg 3]/jf/ 300000 

pBf]u tyf jfl0fHo   

@= ;fdflhs ljsf; 5020000 

lzIff 2400000 

e}/j k|f=lj= ejg dd{t 400000 

jfn ljsf; k|f=lj= 3]/jf/ 200000 

uf}/L z+s/ k|f=lj= ejg dd{t 300000 

zfGtL k|f=lj= ejg dd{t 100000 

di6f lg=df=lj= t'tL 3]/jf/ 100000 

zf/bf df=jL= ltgufpF 3]/jf/ 200000 

36fnb]j k|f=lj= wgftf]nL 100000 



ejfgL lg=df=lj= jf8]ufp ejg lgdf{0f 1000000 

:jf:Yo 300000 

:jf:Yo rf}sL sfof{no 300000 

vfg]kfgL tyf ;/;kmfO{ 1520000 

d]nv]t vf=kf=dd{t 200000 

clwsf/L ufp vf=kf= lgdf{0f 100000 

ltgufp vf=kf= lgdf{0f 100000 

v]tsf]6 vfg]kfgL dd{t 200000 

af8]ufpF vf=kf= dd{t 320000 

lvsfnf vf=kf= dd{t 100000 

l;gfkm' vf=kf= dd{t t'tL 100000 

gf}/fufGhL 36fnf vf=kf=dd{t 300000 

wgftf]nL vf=kf= dd{t 100000 

;+:s[[lt k|j4g 800000 

;'df{b]jL / ejfgL dlGb/ dd{t v]tsf]6 200000 

sfnfzLNnf dlGb/ lgdf{0f 100000 

nfufdf08' dlGb/ lgdf{0f / 3]/jf/ rf}sf 100000 

36fnb]j dlGb/ t'tL lgdf{0f 100000 

36fnb]j dlGb/ lgdf{0f d'Un]kf6f 100000 

lgnv6L nf6fl;t dlGb/ lgdf{0f 200000 

#= k"jf{wf/ ljsf; 3350000 

;8s tyf k'n 
300000 

ltgufp kftn b]lv jf8]ufp jf6f] lgdf{0f 100000 

xn]vf8f sf7]k'n lgdf{0f 100000 

tNnflsd sf7]k'n lgdf{0f 100000 

l;rfO{ 1900000 



cf6f l;rfO{ s'nf] dd{t 400000 

/dfnLvf]nf b]lv rf}nf ;Dd l;rfO{ s'nf] 1000000 

j}t8L l;rfO{ s'nf] dd{t 400000 

nfl5 ju/ l;rfO{ s'nf] 100000 

ejg tyf ;x/L ljsf; 950000 

j8f sfof{no ejg dd{t tyf vfg]kfgL 3]/jf/ 

350000 

v]nd}bfg lgdf{0f pg];f}g 100000 

di6f ;fgf lsiffg s[lif ;xsf/L ejg lgdf{0f 400000 

;fa{hlgs rkL{ lgdf{0f 100000 

hnljB't tyf a}slNks phf{ 200000 

3'l/n nfl5vf]nf hn ljB't dd{t 100000 

bf]uf8] ljB't gx/ dd{t 100000 

jftfj/0f tyf ljkb Joj:yfkg 885114 

/f}nfv]t kf/]vf]nf j[If/f]k0f 100000 

jf7kfnf ;fd'bflos j[If/f]k0f 100000 

36\6]vf]nf / tnLwf/f t6aGwg 585114 

bf}Nof8L g;{/L Jj:yfog 100000 

%= ;+:yfut ljsf; tyf ;]jf k|jfx  582540 

If]dtf ljsf;  347540 

dlxnf ;+hfn ljsf;  100000 

o'jf ;r]tgf tflnd 100000 

ckfu ;+hfn Joj:yfkg 35000 

hDdf 12062654 

 

 

  
  



di6f ufpFkflnsf 
ufpF sfo{kflnsfsf] sfof{no 

 eft]vf]nf, aemfË 
& g++= k|b]z g]kfn 

 
di6f ufp “ kflnsf j8f g+= # 

!= cfly{s ljsf; 1534765 

s[lif 1084765 

6g]n xfp; lgdf{0f  
150000 

cfn' v]tL 
190000 

Ps3/ Ps s/];fjf/L  
84765 

bft] cf]v/ pTkfbg s]Gb| 
60000 

j+u'/ / v/fof kfng 
300000 

s'v'/f kfng 
100000 

l6d'/ pTkfng g;{/L 
100000 

sf]n cb'jf v]tL 
100000 

pBf]u tyf jfl0fHo 450000 

ldng s'6fgL lk;fgl pBf]u  
100000 

cfkm/ ejg lgdf{0f # 
250000 

c+;fNg\ ejg lgdf{0f 
100000 

@= ;fdflhs ljsf; 4904296 

lzIff 1200000 

sflnsf k|f=lj=lkmN8 tyf ejgf dd{t 
1000000 

l/n'rf}/ df=lj= kmlgrf}/ tyf 3]]/jf/ 
200000 

:jf:Yo 130000 

gf]xf]d 8]lnj/L Joj:yfkg  
130000 



vfg]kfgL tyf ;/;kmfO{ 2970000 

emf/ ;fbL s=8f8]jfh vf=kf= dd{t 
100000 

dNnf] rf]v]Nng vf=kf dd{t 
100000 

sfnf kftn vf=kf= dd{t 
50000 

l/n'wf/f vf=kf= dd{t 3]/jf/ 
150000 

bfofgf lng vf=kf= dd{t 
100000 

le8d'lg vfkf dd{t 
50000 

l/l;G8L vf]nf a'sf 8f8f s'nf] / vf=kf= dd{t 
300000 

tNnf] rf]vf]Ngf vf=kf= dd{t 
150000 

xnf/f vf=kf=/bjf/L kf6fkf6L jf6f] dd{t 
70000 

7"nf vs{ vf=kf= lgdf{f0f 
1750000 

/fpnL vf=kf lgdf{0f 
150000 

;+:s[[lt k|j4g 604296 

l;p/f] d]nf Joj:yfkg 
104296 

nfuf dlGb/ lgdf{0f 
200000 

ejfgL dlGb/ lgdf{0f 
300000 

#= k"jf{wf/ ljsf; 2423827 

;8s tyf k'n 373827 

s';]gL vf]nf k'n tyf jf6f] dd{t 
50000 

j8fsfof{no b]lv l6sf ;Dd jf6f] dd{t 
123827 

xnf/f b]lv a'sf8f8f l;rfO{ s'nf] lgdf{0f 
50000 

j8fsfof{no b]lv nfufdlGb/ ;Dd uf]/]6f] jf6f] 
100000 

jf8fsfof{no b]lv lrd]gf ;Dd jf6f] dd{t 
50000 

l;rfO{ 850000 



bfGgf l;rfO{ s'nf] dd{t 
150000 

;'sf] nfkf b]lv u|ffuf ;Dd l;rfO{ s'nf] dd{t 
500000 

cfNof emf8 l;rfO{ s'nf] dd{t 
200000 

ejg tyf ;x/L ljsf; 200000 

jf8f sfof{no ejg dd{t 
200000 

hnljB't tyf a}slNks phf{ 1000000 

tNnf] l/n'uf8 n=h=lj= gx/ 9n lgsf; kf]n vl;b 
1000000 

$= jftfj/0f tyf  ljkb Joj:yfkg 689335 

%= ;+:yfut ljsf; tyf ;]jf k|jfx  304733 

If]dtf ljsf;  304733 

hDdf 
9856956 

 

  



di6f ufpFkflnsf 
ufpF sfo{kflnsfsf] sfof{no 

 eft]vf]nf, aemfË 
& g++= k|b]z g]kfn 

 
di6f ufp “ kflnsf j8f g+= $ 

!= cfly{s ljsf; 
974000 

s[lif 
974000 

s'v'/f kfng blnt a:tL cfu| 
100000 

s'v'/f kfng blnt a:tL v]tL 
100000 

s'v'/f kfng blnt a:tL jf:tf]nL 
100000 

afv|f kfng  
434000 

Ps 3/ Ps s/];fjf/L 
40000 

6g]nxfp;  
200000 

pBf]u tyf jfl0fHo 
  

@= ;fdflhs ljsf; 
4100000 

lzIff 
2150000 

s'n di6f hg p=df= ;':y ljBfyL{nfO{ sk8f  
100000 

s'n gfGgb]j k|f=lj= ejg dd{t 
400000 

sflnsf k|f=lj= ejg lgdf{0f cfu|f 
550000 

Ps]j/ k|f=lj= ejg lgdf{0f 
600000 

s'n di6f hg p=df= ejg lgdf{0f 
500000 

:jf:Yo 
300000 

:jf:Yof rf}sL dd{t 
100000 

j|lyLË ;]g6/ ejg lgdf{0f tyf Joj:yfkg cfu|f 
200000 



vfg]kfgL tyf ;/;kmfO{ 
100000 

rf}sf vfkf dd{t 
100000 

;+:s[[lt k|j4g 
1550000 

sfn;}g dlGb/ dd{t 
400000 

gfGgb]j dlGb/ dd{t 
100000 

Ps]j/ dlGb/ dd{t 
150000 

e}/a dlGb/ lgdf{0f 
100000 

di6f dlGb/ lgdf0f{ afx'g ufp 
400000 

aHo} dlGb/ lgdf{0f 
100000 

8f8fjf3 dlGb/ d{dt 
100000 

tkjg s'8 lgdf{0f 
200000 

#= k"jf{wf/ ljsf; 
3376114 

;8s tyf k'n 
100000 

dfn'kf6f b]lv /fldvf]nf ;Dd 3f]=jf= dd{t 
100000 

l;rfO{ 
1326114 

l;rfO{ s'nf] 
150000 

af;tf]tL l;=s' dd{t 
88827 

af; v]t l;rfO{ s\nf] dd{t 
100000 

cf;] v]t l;=s'= d{dt 
100000 

nfl5 v]t l;=s'= lgdf{f0f 
750000 

cfu|f 89v]t l;=s'= l8nd'gL 
137287 

ejg tyf ;x/L ljsf; 
1400000 

;fd'bflos ejg lgdf{0f eft]vf]nf 
500000 



;fd'bflos ejg lgdf{0f 7fgf 
500000 

;fj{hlgs ejg lgdf{0f 
100000 

v]n d}bfg lgdf{0f 
100000 

j8fsfof{no Joj:yfkg 
200000 

hnljB't tyf a}slNks phf{ 
550000 

nfl5uf8 n3'hn ljB'n kf]n vl/b 
550000 

$= jftfj/0f tyf  ljkb Joj:yfkg 
900000 

vf8fb]lv s'/Ls'n ;Dd t6aGwg 
300000 

vf8f b]lv ;+uf}8L vf]nf ;Dd t6aGwg 
300000 

nfl5uf8 u8v]t ufu|f t6aGwg 
300000 

%= ;+:yfut ljsf; tyf ;]jf k|jfx  
347540 

If]dtf ljsf;  
347540 

hDdf 9697654 

 

  



di6f ufpFkflnsf 
ufpF sfo{kflnsfsf] sfof{no 

 eft]vf]nf, aemfË 
& g++= k|b]z g]kfn 

 
di6f ufp “ kflnsf j8f g+= % 

!= cfly{s ljsf; 910051 

s[lif 780000 

4fl/ t/sf/L v]tL tyf 6g]n xfp; 200000 

pGgt jLp pTkfbg  25000 

uf]nfsf8f kmn km"n v]tL 150000 

;]?k}n t/sf/L v]tL tyf 6g]n xfp; 200000 

Ps3/ Ps s/];fjf/L  75000 

dNnf 4l/ jfvf kfng g;n ;'wf/  80000 

ljgfos b'w 8]/L ;+sng  50000 

pBf]u tyf jfl0fHo 130051 

s'6fgL lk;fgL  100051 

cG;fNg' lgdf{0f 30000 

@= ;fdflhs ljsf; 5885000 

lzIff 2400000 

4fl/sfgfy lg=df=lj= lkmN8 zf}rfno / vf=kf lgdf{0f 1400000 

hfgsL lg=df=lj= zf}rfno lkmN8 lgdf{0f 1000000 

:jf:Yo 350000 

j|lyË ;]G6/ lgdf{0f 350000 

vfg]kfgL tyf ;/;kmfO{ 2635000 

ef/Lsf]6 uf]nfsf8f ynf 4l/ vf=kf= 1400000 

e08f/L vf=kf= dd{t 50000 

dNnf 4fl/ :s'n ;Dd vfkf dd{t 200000 

e]/f vfg] kfgL dd{t 80000 

v/L vf=kf= dd{t 75000 

uf|uf vf=kf= lgdf{0f 80000 

lsgf8f ;]?k}n ef6 vf]nf vf=kf= lgdf{0f 500000 

vfg] kfgL :6d]6 ;e]{ 250000 

;+:s[[lt k|j4g 500000 

nfDkf6f di6f dlGb/ lgdf{0f 200000 

ejfgL dlGb/ lgdf{0f 300000 



#= k"jf{wf/ ljsf; 1530000 

;8s tyf k'n 180000 

rf/fkf6f jf6f] lgdf{0f 100000 

b/L b]lv tTtntgf{ ;Dd jf6f] lgdf{0f 80000 

l;rfO{ 500000 

l;rfO{ s'nf] :6d]6 ;e]{ 200000 

4fl/ lsgf8f l;rfO{ s'nf] ;e] O:6d]6 100000 

e]/fkfgL l;rfO{ s'nf] lgdf{0f 50000 

cfNnf]ju/ l;rfO{ s'nf] lgdf{0f 50000 

e]/fkfgL s'nf] dd{t 50000 

cfNnLemf8 l;rfO{ s'nf] lgdf{0f 50000 

ejg tyf ;x/L ljsf; 300000 

lsgf8f dlxnf ;fd'bflos ejg lgdf{0f 100000 

lsgf8f hfu/0f ejg lgdf{0f 50000 

jf8fsfof{no ejg dd{t 150000 

hnljB't tyf a}slNks phf{ 550000 

4fl/uf8 hnljB't gx/ dd{t 300000 

e]/f d'gL hnljB't gx/ lgdf{0f O:6d]6 250000 

$= jftfj/0f tyf  ljkb Joj:yfkg 583653 

%= ;+:yfut ljsf; tyf ;]jf k|jfx  948950 

;Kt/+lu o"jf Snj 150000 

If]dtf ljsf;  357540 

e}kl/ cfpg] vr{ 441410 

hDdf 9857654 

 

  



di6f ufpFkflnsf 
ufpF sfo{kflnsfsf] sfof{no 

 eft]vf]nf, aemfË 
& g++= k|b]z g]kfn 

 
di6f ufp “ kflnsf j8f g+= ^ 

!= cfly{s ljsf; 1534765 

s[lif 1084765 

6g]n xfp; lgdf{0f  150000 

cfn' v]tL 190000 

Ps3/ Ps s/];fjf/L  84765 

bft] cf]v/ pTkfbg s]Gb| 60000 

j+u'/ / v/fof kfng 300000 

s'v'/f kfng 100000 

l6d'/ pTkfng g;{/L 100000 

sf]n cb'jf v]tL 100000 

pBf]u tyf jfl0fHo 450000 

ldng s'6fgL lk;fgl pBf]u  100000 

cfkm/ ejg lgdf{0f # 250000 

c+;fNg\ ejg lgdf{0f 100000 

@= ;fdflhs ljsf; 4904296 

lzIff 1200000 

sflnsf k|f=lj=lkmN8 tyf ejgf dd{t 1000000 

l/n'rf}/ df=lj= kmlgrf}/ tyf 3]]/jf/ 200000 

:jf:Yo 130000 

gf]xf]d 8]lnj/L Joj:yfkg  130000 

vfg]kfgL tyf ;/;kmfO{ 2970000 

emf/ ;fbL s=8f8]jfh vf=kf= dd{t 100000 

dNnf] rf]v]Nng vf=kf dd{t 100000 

sfnf kftn vf=kf= dd{t 50000 

l/n'wf/f vf=kf= dd{t 3]/jf/ 150000 

bfofgf lng vf=kf= dd{t 100000 

le8d'lg vfkf dd{t 50000 

l/l;G8L vf]nf a'sf 8f8f s'nf] / vf=kf= dd{t 300000 

tNnf] rf]vf]Ngf vf=kf= dd{t 150000 

xnf/f vf=kf=/bjf/L kf6fkf6L jf6f] dd{t 70000 



7"nf vs{ vf=kf= lgdf{f0f 1750000 

/fpnL vf=kf lgdf{0f 150000 

;+:s[[lt k|j4g 604296 

l;p/f] d]nf Joj:yfkg 104296 

nfuf dlGb/ lgdf{0f 200000 

ejfgL dlGb/ lgdf{0f 300000 

#= k"jf{wf/ ljsf; 2423827 

;8s tyf k'n 373827 

s';]gL vf]nf k'n tyf jf6f] dd{t 50000 

j8fsfof{no b]lv l6sf ;Dd jf6f] dd{t 123827 

xnf/f b]lv a'sf8f8f l;rfO{ s'nf] lgdf{0f 50000 

j8fsfof{no b]lv nfufdlGb/ ;Dd uf]/]6f] jf6f] 100000 

jf8fsfof{no b]lv lrd]gf ;Dd jf6f] dd{t 50000 

l;rfO{ 850000 

bfGgf l;rfO{ s'nf] dd{t 150000 

;'sf] nfkf b]lv u|ffuf ;Dd l;rfO{ s'nf] dd{t 500000 

cfNof emf8 l;rfO{ s'nf] dd{t 200000 

ejg tyf ;x/L ljsf; 200000 

jf8f sfof{no ejg dd{t 200000 

hnljB't tyf a}slNks phf{ 1000000 

tNnf] l/n'uf8 n=h=lj= gx/ 9n lgsf; kf]n vl;b 1000000 

$= jftfj/0f tyf  ljkb Joj:yfkg 689335 

%= ;+:yfut ljsf; tyf ;]jf k|jfx  304733 

If]dtf ljsf;  304733 

hDdf 9856956 

 

  



di6f ufpFkflnsf 
ufpF sfo{kflnsfsf] sfof{no 

 eft]vf]nf, aemfË 
& g++= k|b]z g]kfn 

 
di6f ufp “ kflnsf j8f g+= & 

!= cfly{s ljsf; 1064765 

s[lif 550000 

h8La'6L g;{/L lgdf{0f  300000 

Ps3/ Ps s/];fjf/L 50000 

6g]n xfp; lgdf{0f 200000 

pBf]u tyf jfl0fHo 514765 

lgufnf] hGof ;fdfu|L lgdf{0f 150000 

cNnf[] efuf] k|;f]wg s]Gb| 300000 

l;nfO{s6fO{ tyf xftL xf]hLof/L tflnd 64765 

@= ;fdflhs ljsf; 5495000 

lzIff 2300000 

s}nf; k|f=lj= dd{t 300000 

dflnsf lg=df=lj= lkmN8 dd{t 300000 

lxdfno lg=df=lj= ejg lgdf{0f 1700000 

:jf:Yo 400000 

aly{u ;]G6/ lgdf{0f n6f}g 400000 

vfg]kfgL tyf ;/;kmfO{ 2175000 

7s'Ggf tyf d';nwgwf/f vf]r] vfg]kfgL dd{t 500000 

tNnf 7s'Ggf vf=kf= dd{t 200000 

sf8fkfgL blnt vfg]kflg dd{t 100000 

bo vfg] kfgL lgdf{0f dd{t 445000 

sf8fkfgL vf=kf= 330000 

uf}lgn6f}g 8f}8f vf=kf= nfOg lj:tf/ tyf dd{t 600000 

;+:s[[lt k|j4g 620000 

8f}8\ofn dlGb/ dd{t 25000 

s}nfz dlGb/ dd{t 50000 

ejfgL dlGb/ dd{t 100000 

pbfkfnL di6f dlGb/ dd{t 25000 

e}/jdlGb/ dd{t 25000 

36fn b]j dlGb/  200000 

ejfgL dlGb/ lgdf{0f 7s'Ggf 45000 



s}nfz dlGb/ bo 50000 

sfnf;f}g dd{t bo 50000 

di6f dlGb/ dd{t bo 50000 

#= k"jf{wf/ ljsf; 2900000 

;8s tyf k'n 200000 

nfdf ;8f jf6f]  100000 

sf7f]k'n lgdf{0f cgf jf6f] dd{t 100000 

l;rfO{ 300000 

l;rfO{ s'nf] dd{t tNnf 7s'Ggf 300000 

ejg tyf ;x/L ljsf; 0 

    

hnljB't tyf a}slNks phf{ 2400000 

alt Aofj:yfkg n6f}g j:tL 600000 

dfyLnf] l/n'uf8 hhnljB't cfof]hgf dd{t 1800000 

$= jftfj/0f tyf  ljkb Joj:yfkg 745335 

%= ;+:yfut ljsf; tyf ;]jf k|jfx  443257 

ljljw 123827 

If]dtf ljsf;  319430 

hDdf 10648357 

 

 


